	MRGV	Name of contractor	Papuram		SI. No. site b		351	211
ompany	BRGV	Nature of work	TILING WORK		Dt. site bills		10.000	<b>М</b>
roject/site		Work done from date		20-02-2023			NO	
lock no.	A	Work done to date			WO issued		NO	
VO no.	NA	Contractor bill no.			GST bill red	Rate ID	Rate	Amount
VO date	NA Unit/floor no	Details of work		Qty	Units	Kate ID	Rate	
Sl. No.	Part 2' - Staircase - Granite	Fitting charges for apartment stairs per floor – upto 5' width of tread.	case granite –	6	Nos	TFl39	11,000.00	66,000.00
	Granite shifting Staircase granite - per	Ground floor		2	Nos	LFT125	500.00	1,000.00
2	flight/floor + 10% lifting charges			,	2 Nos	LFT125	550.00	1,100.0
3	10% inting charges	1st floor - 2 flight Aded 10% for	lifting		2 Nos	LFT125	600.00	1,200.0
4		2nd floor - 2 flight Aded 10% for	lifting		2 Nos	LFT125	650.00	1,300.0
5		3rd floor -2 flight Aded 10% for l	ifting		2 Nos	LFT125	700.00	1,400.0
6		4th floor - 2 flight Aded 10% for	lifting		2 Nos	LFT125	750.00	1,500.0
7		5th floor - 2 flight Aded 10% for	lifting		2 1403			
8								)
9				And the second s				
10							Total	73,500.0
10				and the second s		Add GST	0.00%	0.0
				To	otal amount		es for work done	73,500.0
Remarks:	APPROVED BY	Approved by QS team			Approved	by Director/E	E&D team	
Approved	by project manager				Sign:		And the second s	
G	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	Sign:			Date:		Life mind in datail	is cannot be entere
above. 5. For	shee Gath Design and the Company of	or (for NGH + NRK), 8. Entry of rate ID is manda	e this form even if work orde any QS team member may si tory. 9. This sheet must be se	r is not issued. 4. Attact gn and in place of direct ent within 2 working da	n measurement ar for sign of respect ys of work compl	d estimate sheets of tive E&D member etion (with or with	only if required i.e., detail to be taken. 7. Director is out contractors bill). 10.	nelude Soham, Contractors to sen

ESTIMATI	E					
COMPAN	YNAME	MRGV	APPROVED BY			
PROJECT		BRGV	SIGN:			
WORK DI	SCRIPTION	TILING WORK				
PREPAREI	D BY	Sarwar				
DATE		12-06-2024				
CONTRAC	CTOR NAME	Papuram				
			A		В	AXB
SL NO	ITEM HEAD	ITEM DISCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1	Part 2 - Staircase - Granite	Fitting charges for apartment staircase granite – per floor – upto 5' width of tread.	6.00	nos	11.000	66,000
2	Granite shifting Staircase granite – per flight/floor + 10% lifting charges	Ground floor	2	Nos	500	1,000
		1st floor - 2 flight Aded 10% for lifting	2	Nos	550	1,100
		2nd floor - 2 flight Aded 10% for lifting	2	Nos	600	1,200
		3rd floor -2 flight Aded 10% for lifting	2	Nos	650	1,300
		4th floor - 2 flight Aded 10% for lifting	2	Nos	700	1,400
		5th floor - 2 flight Aded 10% for lifting	2	Nos	750	1,500
					Total	73,500

MEASURE	MENT SHEET				APPRO	OVED BY		
OMPANY		MRGV			9	SIGN:		
PROJECT		BRGV		A STATE OF THE STA				
	SCRIPTION	TILING WORK				Contraction		
REPARED		Sarwar		A CANADA A		1		
DATE		12-06-2024				-		
	TOR NAME	Papuram	A	В	С	D	E=AxBxCxD	F
			LENGTH	WIDTH	HEIGHT	NOS	QUANTITY	UNITS
SL NO	ITEM HEAD	ITEM DISCRIPTION	LLNOTT				-	NOC
1	Part 2 - Staircase - Granite	Fitting charges for apartment staircase granite – per floor – upto 5' width of tread.	1	1	1	6	6	NOS
	Granite shifting Staircase granite – per flight/floor +	Ground floor	1	1	1	2	2	NOS
2	10% lifting charges		1	1	1	2	2	NOS
	10/2/11/2/2	1st floor -		1	1	2	2	NOS
		2nd floor -	1	1	1	2	2	NOS
		3rd floor -	1	1	1	2	2	NOS
	Contract of the second	4th floor	1					
		5th floor	7					
		Total						

## Allowance For Consumables Papuram MUHARPALLY Hyderabad

Date 12-06-2024

In	favor	of	:
	14401	O.	•

MRGV

Project/Site:

BRGV

Location:

YANAKA PALLY

Type of Work:

**TILING WORK** 

Towards:

Allowance For Consumables

S.No.		Discription	Amount
1	Breif discription of work	done: Towards doing tiling work	
			14,700.00
			14,700.00
	Total amount:	73,500.00	

Amount in Word: Fourteen thousand seven hundred rupees only/-

Sign:			
_			 _

## Labour Charges Papuram MUHARPALLY Hyderabad

Date 12-06-2024

12	_		
In	favor	of	•

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

**TILING WORK** 

Towards:

Labour Charges

S.No.		Discription	Amount
1	Breif discription of work	done: Towards doing tiling work	Amount
			29,400.00
	Total amount:	73,500.00	

Amount in Word: Twenty nine thousands four hundred rupees only/-

Sign:		
J.B		

## Allowance For Equipment Papuram

MUHARPALLY Hyderabad

Date 12-06-2024

In	favor	of	:

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

TILING WORK

Towards:

Allowance For Equipment

lowards .		Amount
S.No.	Discription  Breif discription of work done: Towards doing tiling work	
1	Breif discription of work dolle. Fortuna	29,400.00
	Total amount: 73,500.00	

Amount in Word: Twenty nine thousands four hundred rupees only/-

Sign:	 